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1 3 3
2 5 3
3 4 3
4 5 3
5 2 3
6 1 3
7 4 4
8 3 4
9 1 4
10 4 4
11 2 4
12 5 4
13 5 4
14 2 4
15 2 5
16 3 5
17 4 5
18 1 5
Ny ot
1(24) = 5
2(&h) 5 5
(1) AH= taffoo =12x /3=12v/3 (m)
3(4) (2)CH= AHtan 60° =123 x v/3=236 (m) 6
(3) BC=12+36=48 (m)
(1) BE= FB=z (cm)2} 1 519
%XzXzXSinZﬁOOZ% o2t =3
4(M) z>0022 z=+3= BE 7
(2) AABEOjA] _
ZABE=—=x(90"—30")=30"(3)AB= /3 cos 30"
—\/§><\f2—2 (cm)
(1)tan28° = % Sh=R=1
BC= ACtan28°
5(A) BC=10x0.5317 =5.317 7

(2) Y9 Fole
1.6+BC= 1.6+5.317 = 6.917
ATA SRR oA akE e 6.9 (m)




